MATH 1300 A, Summer 2015
Midterm 1

Solution

Name:

Student number:

Show all work clearly and in order. Justify your answers whenever possible. No calculators,
cell phones, head phones or books are allowed. You have 50 minutes.

1. (10 points) For each of the following graphs determine if it is the graph of a function. Mark

yes or not.
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2. (20 points)

(a} Find the domain of the function f(z) = ,/5%.
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(b) Let g(z) = ;22% with domain the real numbers. Find the range of g.
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{c) Show that f o g is defined, and find a formula for (f o g)(z}.
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3. (20 points)

. . 2 . .
(a) Explain why the function p(z) = igmm with domain the real numbers is not one-to-one.
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(b) Explain why the function g(z) = 355
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(¢) Find a formula for y = ¢~ ().
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4. (20 points) Evaluate each of the following:
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5. (20 points) Find the following limits:
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0. (10 points) Is the function f below continuous?
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